@WXO YAMAHA MTOS

2021 >

e, evnar. comnt

Notice Saute-vent universel - Universal Sport screen instructions HY/15 02Y99

1 PERSON

1 x1 Saute-vent ou Ermax Hypersport screen
Téte de fourche Ermax or Nose fairing

2 X1 Patte de fixation droite Right bracket

3 X1 Patte de fixation gauche Left bracket

5 x4 Vis M5 x 15 aluminium noire M5 x 15 Black aluminium screw

6 x4 Rondelle plastique @5 @5 Nylon washer

7 X4 Insert caoutchouc M5 M5 Rubber insert




YAMAHA MTO9

2021 >

Instructions de montage - Mounting instructions HY/15 02Y99
=</

Montage - Assembly

Montage
Assembly

soires.



